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G 2024 17. NQresss Cariur® ¢lés el sarGammddd
ameir 15 | @ewsslwssmermiteyd spriflsvdsslw o ST NMICES
Gryirid: 3 Logwfl 2 Wi gjarey wElGLIeRT:100 18, Sparmisaurarisenseiu s@dsmer aimrusmp Qris.
UGS — 9 19. FpermiiailerTsy erHLBILD LIWETHM6T alleTd &Hdbs.
L omarss alamrésemssn alaL weass. (10x2=20) 20. cpelory]l GBISS allardssid $hgl allafss.
1. glmewrmiiey sTeirLig wirg? ugg - @)

2. remarupens Aperrie Glss! T1psIs. II1. srenau@uigniid b aflerrdsEnse allenweflds. (5x10=50)

3. gulewsdlws Qsrearens, Carl_ur® @ rawrenLujb Coumpuhssids. 2. slfled glparriie) eieriths aireTHep oflenflss.
4 o payfleed Gariur® @Blbs) ogsis. 22. spriflevgdlw susridfullenest LN Hewrds.

5. QurfOuuwitiy seTHTE sTebran? 23. spriflevsdlws Camiur@seflsr CFsveuTsdlemeri LeoliLBdg5!s%.

6. Qumf wrHpid afleTésih 5ms. 24. Qumf) QuuiiriiurerflsT uerTLsewers CgefleyLiBhdHgi%.

7. Uilsduib sTeTpTeD sTeiTa? 25. sTeBCsTMID FpesTmiley susridd QupmisTeTens ailouflss.

8. Fmermiley-CFrH6lLT (BT aileTdssd H[Hs. 26. BTéHHE Carlurliger Aplifenst GeuafliL®Ss1%5.

9. ThHs @evdsentid Lilenestailwmh TeVGIWTN FnmLILIBE M ? 27. pullsslu auanés] GHlss sLQawrés.

10. QrELIWTLIL 6TETMHTEV 6T6dT6wT ? 28. gCs@D @ preflewars Fparriie) ClFiis.
LGS -
II. etewauQuigniid b allaTrdsEhdsE allewLweflEs. (5x6=30)

11. wFnfl Quyeornsd SpeTriiallsT H6TenLHsT WTeweu? alomd @b.
12. Qevsslw pmenwliuriiger Chemeuuwllenest HmiglulBs.

13. 9QwA&Esds CaHTi LTl iqenesT YImiibgl 6TLSI%.

14. NErepdd CaHmTiumiig et ApLiLsener sT(HbSHIMTHS.

15. egHyGTifl sTeiTLIg LDY 6T(PHIS.
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Gmmin: 3 Loewed)

2 wiy gjarey wElGLIemT:100

10.

II.
11.

12.

UGS — I

Imears g aflarrssepdEe afleLweflds. (10x2=20)

BlB D6 HEML(LPEHD — UEDT IWLMISH .

Define Event procedure.

BIT6Y 6TEHTMIT6V 6T6IT6UT !

What is meant by Data?

BlsLpey sTedTmTev sTedreor? What is called event?
Lilg6ULD 6T6STMT6L 6T63T6DI ?
What is meant by ‘Form’?
CFWEOLPEHD 6TEHTMT6V 6T6HT6IT ?
aflfleurd@s. OOPS, VB
Expand : OOPS, VB.

GILITg)| 2 (1 6TETMT6V 6T6IT6OT 7

What is meant by procedure?

What is meant by public data?
FnMI&6IT 6TEITDT6V 6T6IT6OT 7
What is meant by Function?
OLE -eww suemgwmidss. Define OLE.
O}EUCTOTLD 6T6BTMT6V 6TGHTEHT 7
What is meant by Document?

LGS 2
TG wbgl afleTrsdsendd allen L wefldss. (5x6=30)
Bla1pey Qussliu@n sl Henwlisnu alleuflss.
Explain Event driven programming.
LweTi @)L (pasib eugeuswiolin) uHy elleufldss.
Explain the user Interface Design.

13.

14.

15.

16.

17.

18.

I1I.

19.

20.

21.

22.

23.

24.

25.

26.

VB Qurmsr #rihg 4Erralrmid starLigenet aileufldss.
Explain Visual basic object oriented programming.
Ligsug et plewsv LpHM] afleufldas.
Explain the status of a Form.
aflgeusv G ST Hrey susmassemer alleufldss.
Explain visual Basic data types.
ON - GOTO s Lswer upm) alleufldas.
Explain ON — GOTO statement.
VB- WINAPI srsiisurmy QruwisvLi®&mgi starugeneat allouflss.
Explain how WINAPI function in VB.
Active X s @Quiurl_ (b swioliilenet aileufldsas.
Explain active X control projects.
uGs - @)
eTemauGUIILD gbGI NTTSE EHS @ aflenL_weflss.
VB —uflesr & mi6ir wiremeu?
What are the components of the Visual Basic?
Fererred suplwenoliyseafleit 2 miliysst uHm) alleuflds.
Explain the components of windows programming.
VB 2_peurdsib wHmih @udssls LT senst alloufldss.
Explain design and run time properties of VB.
Blspeyssit UM afleuflds.
Briefly explain Events.
FHYPDF WOLILNGT 6UNHEHEHMET 25T TMTHSHIL_65T ailends @ s.
Explain looping structures with suitable example.
@MI&Casremeau TPlsst LD allouflshs.
Explain string variables.
Qeuafllliym HT6yBHeTSSl6T HT6YdbBL RLILITHSHEHET 6T T M)
NS WITEHEUG 6TEITLISMEST afleuTlds.
Explain how to access external data base with data control.
QUHTHENEVEMILIG DBIITEHSHD LHD] afleuflds.
Explain Graphics Handling.

(5x10=50)
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@lerlemevts LI L5 CHirey
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G 2024

e 11 1 srevremfled Ligiumiiey wHmID CFwWeHD By UI16ySH6T

Grmid: 3 e

2 wiy gjerey wSiGUesr:100

LGS~ 9
IMaThs aflarrdseansE@n aflemLwefldss. (10x2=20)
wDIQFiens Wepullsd 1° = 2x + 3 —5@& WUl PSS HTETSH.
Find the real root for x* = 2x + 3 by iteration method?
Blupl L 6T-rrliFest pemmuilsy s (Hki@He0l6T ClFUlenBEMIUI 6T(LGI%.
Write the criteria for the convergence of Newton-Raphson method.
FwaTHD B)ewL Gleusflsarer Bluyl L sflsit @)ewL_d6lFHaohsd
QUTILIUTL DL & dnMIs.
State the Newton’s interpolation formula of unequal intervals.
Q&I TERF PEWMEHHTET G THMS 6T(PSI%.
Write down the formula for Lagrange’s method.

Fiflous aflFlewwd gnmis. State the Trapezoidal rule.

FibFevfl6or %mﬁﬁmmu vwetu®gg b = 0.3k srevflsv JFDI% — uflemenr

REANTIICE S

Evaluate J’:% by Simpson’s % rule with = 0.3h,

< liivfeT eppufled :—i =x 4 y.y(1) = 2 srepo@uimrgy y(1.1)
—uflenesTd FHIT6ETITS.

Find ¥(1.1) given z—; = x +v,y(1) = 2 by Buler’s method.
Cuobu@bsrinc L i flet (epullst @Gi31T5IPeT 11515
Write down the formula for modified Euler method.

ST [6&H%H60 HMILD BTNV ewFL 6V (pewmuilemest CoumiLihH 515,

10.

I1.

11.

12.

13.

14.

Differentiate Elimination and Gauss- Seidal method.

HTe-0C& L pemmuiled 6 (HBIGHSVIHEHTeT GLITEILOT6sT

BILHEHEMITEMUID Fn M.

State the condition for convergence of Gauss-Jacobi method.
LGS — 2

srenauCuigyib bl aflerTéEsEnsE allewweflEs. (5x6=30)

wmQFiiens wewpulley cosx = 3x — 1 —ullewerr Brer@ S0

BB mpswrss Sibmai.

Solve the equation cosx = 3x — 1 correct to four decimal places by

iteration method.

Bl L esfler wpeopulled x¥ — 6x —4 = 0 eTedTD FGTUTL DL 2Hg)

BT QL_GI(hSS0THS FiiddHe|.

Using Newton’s method to solve the equation x* — 6z —4 = 0 correct to

five decimal places.

F1PHEHMTL | L_ausmentd @ Bluyl L ssflsr wpestCesrmds@ Coumim (b
B)ewL_F6FHHD suriitiuri_gemesrts LweTu@SS tan (0.127) -er
WHIIEHLIG & T8,

Find tan {0.12) by using Newton’s forward difference interpolation

formula for the following table:

x H 0.10 0.15 0.20 0.25 0.30
¥ = tanx: 0.1003 0.1511 0.2027 0.2553 0.3093

F1EHHMTL YL L_suenentds@ ClevsrmepFluilsst @)emL_&6lamabsv
sumiiiur g enerls LweTu®SH sin (F/g) -ulewars sres.

Find the value of sin (™ /g using Lagragnge’s interpolation formula for the

following table:
x 10 H,?r 4 H.'"r 2
y= Siny . U U.?U?i 1.0



15.

16.

17.

18.

III.

19.

20.

21.

22.

Nssritev weopuilsd ¥ +¥ = ¥, x(0) = 0 -ulewars Sids.
Solve y* +y = &*,y{0) = 0 by Picard’s method.

1

yr=x—yLy(0) =1 aelléd QLT Qs Yedpedw LweTUGGH
¥(0.1) et wHliewuds srevrs.
If y* = x — v, {0} = 1 find ¥(0.1) using Taylor’s series
method.asredleir Fa%H60 pewmullsy Lesreu b GHTGHDHlewwis HidseyLd.
x+qy+z=32x+3y+ 3z =10:3x —y + 2z =13,
Solve the system by Gauss Elimination method:
x+2y+z=3;2x+ 3y +3z =10 3x —y + 2z = 13,
HTeV-0FL 6V OlFIens 1pewmullenet allard @d.
Explain the Gauss — Seidal method of iteration.

ues - @
stenauCuignid Wbkl aflaTTseEnd e allenweaf&s. (5x10=50)
g* — 3x = O eredTp FwTUITL 19D @& LMCFiIens Wewpullsd Lilsws
CLPEVSENHI> & T 6V 5.
Find the positive root for #* — 3x = 0 by iteration method.
Qevgrrepdluflest @)ewL_FOFHHN FHHTHmBH H[Haildhds.
Derive the Larange’s interpolation formula.
F1PHEHMTL UL susnentd @ 0levdhrmepduilst @)swL &olamaeev
euriiiurl g emesrts Lwetu®SS) Fx - ulewerd smesors.
Find f(x) from the table by using Lagrange’s interpolation formula:

x 0 1 4 5
HOKE 4 3 24 39

QL iivMesr Qg mL_iTpemmuiley :—i =x? + y? etaoGuirgy
¥(0) = 0 eraaflev y(0.1)-6i1 AlIswL BreiTE S50 B)L S5 HSSLOTSE

&ITE3T .

23.

24,

25.

26.

Using Taylor series method find the correct to four decimal places the value
of ¥(0.1) given% =x? 4+ y?and y(0) = 0.

@pissuilssr wrpPlwenssiin L aweopulley’ =y + &%, y(0) = 0
eresflev x = 0.2y x = 0.4 —er wHIwLIG ST s.

Solve y* = v + &%, y{0) = 0 for x = 0.2; x = 0.4 by modified Euler
method.

Héaritev pewpullsvy =y — x%,y(0) = 1 —ulewearg Sidbs wHmID
(0.1}, %(0.2) S alweuNI6T LHILIL|FHeDeTd: & T6evTss.

Solve y* = y — x%,%(0} = 1by Picard’s method and find the value of
¥(0.1), y(0.2).

&Te-GeriL_meir pewpulled LNsiTouHid GHT G ewwg FidhsaLb.
Solve the following system by Gauss Jordan method.
Wx+y+z=12x+10y+z=13:x+y + 3z =7,

HTeW-0FL 6V (ewmuilsd Lilsiteuho Fwesum (h C&T@ESlewwd
FTdHHeLD.

Solve the following system of equations by Gauss-Seidal method:
Bx+4y—=z=32; x4+ 3y + 10z = 24;2x + 17y + 4=z = 35,
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urLd @mlufL_ (b erevor.

et 9 - senflLGurphlyl Srey yuie)b

Gprid: 3 wewfl o wir gyere) wHLIG L 100
UGS - I
I. swarss alarrsspsgn ol wellss. (10x2=20)
1. BHd&S @) WESBISHET WTeneu?
2. &&F CFUIB6D 6THTMT6V 6T6OTET ?
3. allfleurg@s: OMR, OR
4. sseysglper (Modularity) sresrpmsd sredresr?
5. GoeTOILIT (6T 6TEATMT6V 6T6dT6HT ?
6. Gas (Cache) stam @ Csemeu?
7. S (O BleweTeUSHLD 6TETMIT6V 6T6IT6IT ?
8. eueTHL_(h) 6TETMT6V 6T6IT G-
9. LB BlewesTeUBLD 6TETMIT6V 6T6iT6T?
10. sasusmweysgmesr (Modu;arity) erssrmmsv sretren?
UGS -2
II. sewaBugnid bs allarrésenss alleL weflss. (5x6=30)
1. &l Q& CFewTds uHD aileuflds.
12. OeiTL 19 65T LIISTUT(HHEMET 6T(LPSI%
13. Qrw® (RAID) susnas GQariflsd il ugemais upml afleuflss
14. alleorm — aflewL_daTear swri Blewsw GleT6lLmmsT unpy] aileufldhs.
15. eTaisT Sralleit 2 6T aulgeukIGewend GHUlSg! alleufldss.
16. FrgIfsHwmer LweTurl L rerenrls upn elleuflss.

17.

18.

I1I1.

19.
20.

21.

22.

23.

24,

25.

26.

& () QsTLiyser upm) sripsis,(Nested Relations)

QueTQuTHefleT sumiiliysst uHY! aileurds.

ues - @
sTerauCuignitd bl alleTTEsEnEE aflnLweflss. (5x10=50)
ILFr sewflgs CsTLiy upyl elleufss
srey gyieilsit Fpmdl upml aileuflss.
QerheprLsny waliiihssv (Evaluation of Expression) wumm
afleufsas.
2 anremio GBr suswflals LweTuT®ser upMl afleuflss.
suflewFuilsvsvm i@ Bleweareusd LunHM alleuflss.
Qurmer_&as womid  enrdm  (Indexing and Hasing) wumn)
afleufsds.
QuTmeT susws WHMID CUTHST CBHTLTY SHTeyshearsdsns spriLillev
umnm] efleuflss.

Qurmer aflhuenerwsddler GsvTssreniols DM alleurlsHs.
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smer 11 - @evasdlwgSmermiia)b eriflevsaslpld

Gprid: 3 wewfl

2 wir gyerey wHLIG e :100

10.

II.
11.
12.
13.
14.
15.

16.

L@z — 9
ST s gl alleaTTdsEndb @G0 allenL_werfldss. (10x2=20)
UL WD allerdsh &[mHsb.

TFDEIT (PODd SHBETTIIO 6TEITLIGI WT?

6repd spLiLlevdsEwSBeiT Hibewd 6T BjewLpdBLILI(HLIGUT wiri?
2 amTi$GIH60 UPM) .67.AFFTL 6V &(HSHD WV FonM)ih.
FIBSTTIIO 6USHE ) TENTLY D65 T D)5

HDTTIIQ 6TOTLIZ) 6TebTeor?

oy QLwIiLiL eTETD TV 6T6dT60T?

BvsasLletr @) HGILIHD LifleyssT eTemen?

Qmflt QLwruTarflesT LewTLSH6T () TeaiTiq endeit @&mIIL(Hs%.
BLLILLWED 6T TV 6T6IT6oT?

LGS — 2
sTemauCWgnId Mbg allerTdsEnd@ aflenwefldss. (5x6=30)
Smermiiellest LwesiTser LD TSI .

G pwps Fparriie) P55 6TwsIs.
Qurfl QuuwiliieTr susnasst DD 6THGIS.
Blevsalw spmewwlii(h) unHm! efleufds.
Blevsalw pUiIfL BH&@dF ety ST (h%.

urgml_® DG Sperrileys GBSEIF FTSTMI & ([Hdb.

17.

18.

sTemeuGuignIld mbgl alleoTTds EhdE aflewL_wefldhss.
19.
20.
21.
22.
23.

24.

25.

26.

urrrl () pewms SMTTIIe] GHDISsH FTTN (.
ULV E WS FleT LiweiTah6T &HDlbgI allerd@s.

uGs - @)

(5x10=50)
gipermissurarfisT eueriéd GPI55) TOSHIMTES.

Bvsalw wHIFH GPISs allerds.

SuwevpTRHH6eD spliLllevgal eueridgd @Gmlsa alleutss.

2 _meyplewe Cariur® Gnlss aileuflss.

ullvsdws Carlur® @pldbs allerdEs.

B allgotiluls Ly 5% Bred peTplwars perriia) ClFiis.
Cadlw spmewwlILT ewl_ susmiliugley @evddlwssler LbiseafllienL
aflerd @s.

S0Hl6L spriflevdsdlur sueridd GMlsHI TSI .
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10.

I1.
11.
12.
13.
14.
15.
16.
17.
18.

LGS~ S|
Syewarig ellarrésansgn eflspweflds. (10x2=20)
B1g] GevTeTeniouilest @)TeT(®H) & TevwTlHenear 6T(LpHIb.
HL6T ugSIrsews i uppl Feili oplaug wrg?
ELPEUHEUTLD 6T63TD 6V 6T6HTGHT 7
B1F] GBLDLIH6V 6TETMT6V 6T6IT6HT 7
LIBIGTHTWILD 6TEOTMIT6V 6T63T60T 7
Big] GLo6VTETENLD (F)6VdEHETLD & (5.

B3] 1019 Cl0uBSH0 CILIT BT 5 (H%.

CLPEVSHETS FTwILDd &ML eueHT .

upenLd CHTLLT(h 6TETMT6D 6T6IT6wT ?

LW & CLPEVSEITLD 6TEITMIT6V 6T63T6VT 7
LGS — 2

sremauCuisniid gba) efleTrésEnse afleo_weflss. (5x6=30)

CLPSVSEITS BTG HledT CBird s BIGenar allard @,

BewL_(pewm Gl LDL|SH60l6T BeiTem Lo emeT ailemds @ s.

PV S ETHISH 66T LiisiTHemer aileufldas.

UBISTSTIWS O&Terensullet pohalwsgiausemns allouflss.

B1g] CuevrenTenouilest @ wieL|Bewer allouflds.

B1F] CevTeTenouilsdT (LpHEHIW (LPIg6YHEN6ITE: Fn MId.

FLOBleWeVLI LItI&HH 66T suswssemar aileuflds.

uBISETSTWES Cam_urThsewer alleuflds.

1. sewaiCusnid gmps allerrésepse allew wefléss.
19.
20.
21.
22.

23.

24.

25.
26.

LGS - §)

(5x10=50)
B1g) CGuevTenTemiouiledT phHlwsgiausens allfleurs o rmiilds.
wpsirenflewiols LiBIGSeflsiT auenassenear allfleurs alloufldss.
eLpeVSHEITS UL ewLoLiLiledT eI @ pewmen i afleuflés.
LIBIS TS TS

CasreTensewwl  FTTeflbalsTn & Trewflsener
allfleurss sTHSHHIWTEHS.

HL_6T LSS THBI6T BeITenLo, HewLoHenar alerd d@d.

BlF CBmassIwTaTCurg Blgl Cuevraureniouilst wLiBiglenest
afleuflss.

2 5510 96ey (PSHeV Yswioll Lileir Gariur(hsemer ailerd@s.

Blg] GuevTenTeniouilsst Lenflssnear allflaurs allourldss.
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10.

11.

11.

12.
13.

14.

15.

16.

LGS~
IMThs aflarrdseans@n aflLwefldss. (10x2=20)
@)pslw MNeFieu eumiSlueir HELTNSW Sy EHB WTi?
GLosLsuswTLI LMW 6TETMT6V 6T6IT6UT ?
Qi Gy upm) Ami GO euenra.
BTesTW THNI uBISIEST UHY] GDILIL euenrss.
BLLIL|& H65Tdh @ SIeUk &HeUSHedT GBI Wrg?
sLer usgrio upp AnGYILY 5055
2 58lr6yd HTEFTeW6V 6T6ITLIGZET OILIT(HST H (.
STCFTemeVSH M6 & MEOIL_6D 6TETMT6V 6T63T6OT 7
Ym&aemilLiL) 6TETMT6V 6T6dT6uT ?
2 auTigweV&6T UPD] HallT o mleug wirg?

LGS - 2
srenauCuigyib b aflaTTésEns e allewwefl&s. (5x6=30)
@)bglw MNeFieu sumbiSueiT CIFIIOLPHDHEMENTE In M.
Ursw g’ Bney Slrrdlw sumiglullesr LiewllasT wreneu?
QuITgl euewrwmIGsH BmieueTid GLwIfed Hevord @ GleunigLld CUT
sumiSlwi LNesTuHp Ceusssriqwieney wireneu?
UBIBILI (&G FTHBLOTET LIy eflsir aflenemeydssiT wrensu?
6 @601 @0 uBISwMesT Lewflaenard gnmiss.

Apiiys Smedlet WEHlwsgiaubisensr aileufldds.

17.

18.

III.
19.
20.

21.

22.

23.

24.

25.

26.

Uletr Cagluill L sTCFTemevenwt ssnienL_w GlsBallnh @ wpsiry
WHILSBTE FHLBILD @)L 6T wremeu?
Geuerraistenio sueridFulley @bl MFisy eunidluilest Libislenesr

afleumass.
ussl - @

stenauCuignid gWibdl aflearTdsEpse aflenweflds. (5x10=50)
@bslw Neieu eubiluilesr Lewllsenear afleuflda.
ouewllas  suBidlsewerts  uewilseflesr g liemLullsd  sTeueuTm)

UM &seorid etesr aflifleurds aflond @as.

UBIFIWT TFGHLBlmeVH6eN) HTEFTeWeVE @ LISRTLD 6uPBIS LOMILILIT
eTedTLIHemerT alleufldhs.

ysw eubdls  sewdh@ gleumigGurgy  Ulstupm  Geussiriguw
BewL (pewmaer wreneu? allfleurs alleuflss.

SHTCFTemsVHemar S MedlL_e0l6iT suswEHemar aileurlds.

auBISwi  STEFTEMVS G LI6wTd AEJCE TS LMILILIS M) & T6sT
FSTTenTBIGemeT afleumdsas.

2_aTIq VST UGG CUTgl au@edldhEGh eunislwfer Blens
6T6dT6T?

UBISII(HS G UTIGHMBWTOTHH G Few_Gw 2 ster Apliy 2 ey

upm] aflfleurs allerd &s.



SUDLI LIVSDVESIPSLD, SEHFTaYT L e ® 18. What are the problems faced on translating English to Tamil.

Gerplemeois ulL g Cairey sTewr @).2.11 Part - C
ENGLISH - THIRD YEAR o ,
II1. Answer any five questions in detail: (5x10=50)
MAY 2024

19. Explain the History of Translation?
Paper 11 : Allied Il Application Oriented Subject xpiain the History of Transiation

e o
Translation Theory & Practice 20. What are Theodore’s views on Translation

Gmid: 3 ewfl o wir gjerey w ' 1G@uenr 1100 21. Explain the main problems of poetry translate?

Part - A 22. What are the limitations that you faced when you translate from

I.  Answer all the questions: (10x2=20) English to Tamil?

—

Define Intralingual Translation? 23. Discuss the concept and purpose of translation?

2. Define Imitation — give an example? ) ) , ,
24. Write an essay on the various theories of equivalence and
3. What is phonemic translation?
L . . transference of meaning.
4. What is informative function?
5. Whatis a prose translation? 25. Discuss the main problems of prose translation?
6. Who coined the term translation studies? 26. .What are the factors that affect the translation to Tamil from
7. What was the basic type of translation established by the Roman? English?
8. What is material equivalence?
9. What is modern translation?
10. Give on examples of transliteration?
Part-B
II. Answer any five questions: (5x6=30)

11. Discuss the nature, scope and limitations of translation?

12. Write a paragraph on Bible Translation?

13. Explain equivalence theories in the process of translation with
illustrations of literary text at linguistic level.

14. Analysis of problem in translating prose?

15. Give a short note on ‘Adaptation’.

16. What is translation? Discuss the nature and different types of
translation by giving suitable examples?

17. What is equivalences method?



